
? xhf/df

g]kfn 

;/sf/
k|b]z ;/sf/ :yfgLo tx

10 cfly{s ljsf;

1010 s[lif

1 s[lif kf]lnxfp; tyf #'lDt tflnd j*f g+= 1 150 150 150

2 kz' ljsf; -cfGtl/s tyf afXo k/lhjL lgoGq)f_ j*f g+= 1 50 50 50

3
s'v'/f kfng tyf vf]/ lgdf{)f -zt k|ltzt 

cg'bfg_  
j*f g+= 1 70 70 70

4 ljp vl/b j*f g+= 2 30 30 30

5 kmnkm"n lj?jf vl/b j*f g+= 2 50 50 50

6 kz' cf}ifwL vl/b j*f g+= 2 25 25 25

7 cfsfz] kfgL ;+sng tyf l/rfh{ kf]v/L lgdf{)f j*f g+= 3 44 0 44 44

8 cf}iflw vl/b j*f g+= 3 20 20 20

9 ;'s'Djf;L s[lif sfo{qmd j*f g+= 4 100 100 100

10 afv|fkfng sfo{qmd j*f g+= 4 300 300 300

11 skf; ljsf; ;d"x ks]^ lgdf{)f j*f g+= 5 50 50 50

12 hf} / sf]bf] v]tL k|jb{g tyf ahf/Ls/)f j*f g+= 5 50 50 50

13
;fgf tyf yf]kf l;rfO{ Knfli^s #/ tyf Knfli^s 

kf]v/L lgdf{)f
j*f g+= 5 150 150 150

14 cu'jf s[ifs ;d"x tflnd tyf kl/rfng j*f g+= 5 10 10 10

15
t/sf/Lsf] ljp ljt/)f tyf bfn / cGgjfnL ljp 

ljhg k|jb{g
j*f g+= 5 50 50 50

16 Rofpsf] *]df] lgdf{)f tyf ljp ljt/)f j*f g+= 5 30 30 30

17 afnL ;+/If)f ;]jf tyf tflnd j*f g+= 5 20 20 20

18 gd'gf kz' ;d"x u&g tflnd tyf kl/rfng j*f g+= 5 10 10 10

19 kz' cf}ifwL vl/b j*f g+= 5 20 20 20

hg 

;xeflutf
slG^Gh]G;L /sd

s]= cfO{= l;+x ufp+kflnsf

of]hgf tyf sfo{qmdx? -cf=j= 2076÷077_

;+s]t 

g+=
of]hgf÷sfo{qmd :yfg nIo ljlgof]hg ?

cfGtl/s 

>f]t

>f]t

C)f

sfo{If]qut Joo cg'dfg



20 #f+; lap ljt/)f j*f g+= 5 30 30 30

21 s'v'/f kfng tyf vf]/ lgdf{)f -cg'bfgdf_  j*f g+= 5 50 50 50

22 afv|f ljsf; sfo{qmd j*f g+= 5 80 80 80

23 ;'+u'/ kfng -/}yfg] hft_ j*f g+= 5 50 50 50

24 t/sf/L ljp vl/b j*f g++ 6 20 20 20

25 kz' cf}ifwL vl/b j*f g++ 6 20 20 20

26 Knfli^s #/df t/sf/L v]lt sfo{qmd j*f g+= 7 120 120 120

27 kz' cf}ifwL vl/b j*f g+= 7 30 30 30

28 s[lif ;DaGwL sfo{qmdx? uf kf :t/Lo 6350 0 5850 500 0 0 0 6 6344

29 kz' ;DaGwL sfo{qmdx? uf kf :t/Lo 3750 0 3750 0 0 0 0 0 3750

1020 pBf]u tyf jfl)fHo

1 s]= cfO{= l;+x pBf]u afl)fHo ;+# Joj:yfkg uf kf :t/Lo 100 100 100

1030 ko{^g

1 ko{^g ;DaGwL u'? of]hgf lgdf{)f uf kf :t/Lo 1000 1000 1000

1040 ;xsf/L

1 ;xsf/L ;fIf/tf sIff ;+rfng j*f g+= 2 50 50 50

2 ;xsf/L Joj:yfkg tyf ul/jL Go"gLs/)f tflnd j*f g+= 5 50 50 50

3 ;[hgzLn dlxnf ;xsf/L lzIff sfo{qmd j*f g++ 6 100 100 100

4 gj ljxfgL ;xsf/L lzIff sfo{qmd j*f g+= 6, 7 300 300 300

5 ;xsf/L ;DaGwL sfo{qmdx? uf kf :t/Lo 1600 0 1600 0 0 0 0 0 1600

1050 ljQLo If]q

20 ;fdflhs ljsf;

2010 lzIff

1
a:gf afn ljsf; s]Gb| z}lIfs ;fdu|fL vl/b, 

k'*]vftL 
j*f g+= 1 50 50 50

2 dxfb]j cf= lj= vfhf #/ lgdf{)f j*f g+= 1 100 100 4 96

3 *'d|fsf]^ cf= lj= kmflg{r/ tyf zf}rfno dd{t j*f g+= 1 85 85 3.4 81.6

4 df]xGofndf)*f} cf= lj= kmlg{r/ dd{t tyf /++u/f]ug j*f g+= 1 150 150 6 144

5 /fd]Zj/ cf= lj= #]/jf/ j*f g+= 1 300 300 12 288

6 o'jfd}qL v]ns"b ;fdu|L vl/b j*f g+= 1 50 50 50

7 lzjzlQm cf= lj= %fgf dd{t j*f g+= 2 100 100 4 96



8 s'yfsf]^ cf= lj= #]/jf/ j*f g+= 2 200 200 8 192

9 ljBfyL{x?sf] z}lIfs e|d)f j*f g+= 2 100 100 100

10
%fqj[lt ljt/)f k|fljlws lzIff tyf ljkGg blnt 

tyf h]x]Gbf/ jfnjflnsfx?sf nflu
j*f g+= 3 50 50 50

11
af;'b]j ;fj{hlgs cfwf/e"t ljBfno vfg]kfgL tyf 

%fgf dd{t, sfk*Lufp
j*f g+= 3 250 250 10 240

12 u+u/b]j cfwf/e"t ljBfno t^aGwg, b]psf+*f j*f g+= 3 100 100 4 96

13 di^]Zj/ cfwf/e"t ljBfno t^aGwg, lemufal:t j*f g+= 3 150 150 6 144

14 ;Ltf/fd  cfwf/e"t ljBfno dd{t j*f g+= 3 150 150 6 144

15 zf]ef cf lj #]/jf/, jfnfjg j*f g+= 4 150 150 6 144

16 e'jg]Zj/L cf lj #]/jf/, rGs];}g j*f g+= 4 150 150 6 144

17 b'uf{ cf lj dd{t, sfkmnL j*f g+= 4 150 150 6 144

18 d)^]Zj/L z}lIfs tflnd tyf ;fdu|L vl/b j*f g+= 5 100 100 100

19
%fqj[lQ ljt/)f -k|fljlws lzIff tyf h]x]Gbf/ 

afnaflnsfsf nflu_ 
j*f g+= 5 65 65 65

20 ;/:jlt df lj dlGb/ tyf rf}tf/f] lgdf{)f j*f g+= 5 150 150 6 144

21 afnljsf; s]Gb| dd{t, ;/:jtL ^f]n j*f g+= 5 150 150 6 144

22 b]j:yn df= lj= ejg dd{t j*f g++ 6 150 150 6 144

23 %q]Zj/ df= lj ejg dd{t j*f g++ 6 150 150 6 144

24 sflnsf cfwf/e"t ljBfno ejg dd{t j*f g++ 6 150 150 6 144

25 snf/} cfwf/e"t ljBfno #]/jf/ j*f g+= 7 150 150 6 144

26 nf^f snf/} cfwf/e"t ljBfno #]/jf/ j*f g+= 7 150 150 6 144

27 r)*]Zj/L cfwf/e't ljBfno #]/jf/ j*f g+= 7 100 100 4 96

28 lzIff o'jf tyf v]ns"b ;DaGwL sfo{qmdx? uf kf :t/Lo 9200 0 9200 0 0 0 0 20 9180

2020 :jf:Yo

1 cfwf/e"t :jf:Yo s]Gb| Joj:yfkg j*f g+= 1 50 50 2 48

2 PDa'n]G; ;]jf ;+rfng j*f g+= 2 245 245 9.8 235.2

3 ufFp#/ lSnlgs #]/jf/ j*f g+= 3 50 50 2 48

4 lszf]/ lszf]/L :jf:Yo sfo{s|d j*f g+= 3 20 20 0.8 19.2

5 :jf:Yo rf}sL kmlg{r/ vl/b j*f g+= 3 30 30 1.2 28.8

6
j*f :tl/o ljBfno :jf:Yo lzlj/ 3 k^s sf 

nflu
j*f g+= 3 15 15 0.6 14.4



7 ufp#/ lSnlgs dd{t, cf]nLufp+ j*f g+= 4 50 50 2 48

8 kmlg{r/ tyf lkmSr;{ vl/b j*f g+= 5 30 30 1.2 28.8

9 lszf]/ lszf]/L :jf:Yo sfo{qmd j*f g+= 5 30 30 1.2 28.8

10 cfdf ;d"xsf cWoIfx?nfO{ tflnd -2 k^s_ j*f g+= 5 10 10 0.4 9.6

11 cfsl:ds cf}ifwL vl/b j*f g+= 5 30 30 1.2 28.8

12
dlxnf :jf:Yo :jo+ ;]ljsfn] ue{jlt r]s ug{ 

NofP jfkmt k|lt  ? 200 sf b/n]  
j*f g+= 5 30 30 1.2 28.8

13 ljBfno :jf:Yo lzlj/ -3 k^s_ j*f g+= 5 15 15 0.6 14.4

14
dlxnf :jf:Yo :jo ;]ljsf tyf ;ldltsf] a}&ssf] 

vfhf vr{ 
j*f g+= 5 15 15 0.6 14.4

15 e'ld/fhdf)*f} :jf:Yo rf}sL ;fdfg vl/b j*f g++ 6 50 50 2 48

16 :jf:Yo ;DaGwL sfo{qmdx? uf kf :t/Lo 6696 1250 5446 0 0 0 0 4 6692

2030 vfg]kfgL tyf ;/;kmfO{{

1 ds/Lsf+*f vfg]kfgL of]hgf -qmdfut_ j*f g+= 1 700 700 28 672

2 h's]kflg dd{t of]hgf, *'d|fsf]^ j*f g+= 1 50 50 2 48

3 dNnf] sfug] vfg]kfgL dd{t of]hgf, nf]nL j*f g+= 1 100 100 4 96

4 dh]/f vfg]kfgL dd{t of]hgf, nf]nL j*f g+= 1 200 200 8 192

5 cf]emfvs{ vfg]kfgL lgdf{)f of]hgf, cf]emfvs{ j*f g+= 1 200 200 8 192

6 k'*]v]t vfg]kfgL dd{t of]hgf, s')^f j*f g+= 1 40 40 1.6 38.4

7 s'lGtsfkmn afagufp vfg]kfgL dd{t j*f g+= 1 200 200 8 192

8 bfl*df^L vfnLsf]^ vfg]kfgL of]hgf j*f g+= 2 300 300 12 288

9 tfdfvfgL tfdfv]t vfg]kfgL of]hgf j*f g+= 2 100 100 4 96

10 &f*f('+uf lt?jfjl:t vfgf]kfgL of]hgf j*f g+= 2 200 200 8 192

11 l;d;]n vfg]kfgL of]hgf j*f g+= 2 250 250 10 240

12 j*s'*f vfnLsf]^ vfg]kfgL of]hgf j*f g+= 2 50 50 2 48

13 rfd*]cfd vfg]kfgL dd{t j*f g+= 3 100 100 4 96

14 &'nfvf]nf vf=kf lgdff{)f, r/Lsf]^ j*f g+= 3 200 200 8 192

15 af;'b]jL vfg]kfgL dd{t tyf ;+/If)f j*f g+= 3 150 150 6 144

16 l;ldufp vfg]kfgL lgdf{)f j*f g+= 3 800 800 32 768

17 ;Ns] aTy*f vfg]kfgL lgdf{)f j*f g+= 3 200 200 8 192

18 vfg]kfgL tyf l;rfO{ kfO{k vl/b j*f g+= 3 100 100 100

19 ju/ rGs];}g vfg]kfgL d'xfg dd{t j*f g+= 4 150 150 6 144

20 vfg]kfgL dd{t, af:sf]^ j*f g+= 4 150 150 6 144



21 vfg]kfgL kfO{k vl/b j*f g+= 4 100 100 100

22 sf]nsf] wf/f dd{t, ef*fufp j*f g+= 4 50 50 2 48

23 kmf]xf]/d}nf Joj:yfkg -1 #/ 1 vf*n sfo{qmd_ j*f g+= 5 50 50 50

24 sfnfkftn vfg]kfgL dd{t ;+ef/ j*f g+= 5 50 50 2 48

25 au/ynf gfpnf] lgdf{)f, kmn]*L n]s j*f g+= 6 100 100 4 96

26
v]tvf]nf sf]^Lufp anfo/ ufp vfg]kfgL of]hgf -

qmdfut_
j*f g+= 6 600 600 24 576

27 v]tvf]nf lji^ufp+ vfg]kfgL lgdf{)f j*f g+= 7 450 450 18 432

28
sfpnfd"n vfg]kfgL of]hgf dd{t, l;dn*f]/f v)f]t 

ufp 
j*f g+= 7 200 200 8 192

29 vfg]kfgL kfO{k vl/b j*f g+= 7 100 100 100

30 vfg]kfgL of]hgfx?sf] dd{t uf kf :t/Lo 400 400 16 384

31 ufpkflnsf sfof{nodf vfg]kfgL h*fg uf kf :t/Lo 80 80 3.2 76.8

32 vfg]kfgL kfO{k vl/b uf kf :t/Lo 400 400 400

2040 ;+:s[lt k|jb{g

1 du/ lkt[ #/ lgdf{)f j*f g+= 1 70 70 2.8 67.2

2 du/ k};]/L gfr kf]zfs j*f g+= 1 80 80 3.2 76.8

3 t]l* lgdfpg] dlGb/ lgdf{)f -cf}hL_, *'d|fsf]^ j*f g+= 1 200 200 8 192

4 d^\^] df)f' lgdf{)f, nf]nL j*f g+= 1 100 100 4 96

5 nf^f s]bf/ dlGb/ /+u/f]ug, cNn]jg j*f g+= 1 50 50 2 48

6 l;n+u]b]jL dlGb/ lgdf{)f, /fjtjf*f j*f g+= 1 500 500 20 480

7 nf^f] b]jtfsf] dlGb/ lgdf{)f j*f g+= 2 250 250 10 240

8 d+un]Zj/ Efmf* d}bfg tyf dlGb/ lgdf{)f j*f g+= 2 150 150 6 144

9 :ofpn]vfd dlGb/ lgdf{)f j*f g+= 2 100 100 4 96

10 g/\ofn b]jtfsf dlGb/ lgdf{)f j*f g+= 2 300 300 12 288

11 cf]emf ^f]n eujtL dlGb/ #]/jf/ j*f g+= 2 150 150 6 144

12 dxf?b| dlGb/ lgdf{)f, gf/L lqj])fL j*f g+= 2 300 300 12 288

13 ;+:s[lt ;+/If)f tyf k|j${g sfo{qmd j*f g+= 3 50 50 2 48

14 a*\*f e/f)f Kof/flkm^ lgdf{)f j*f g+= 3 100 100 4 96

15 b'uf{ dlGb/ lgdf{)f sfk*L ufFp j*f g+= 3 200 200 8 192

16 bf*]di^f] e/f)f lgdf{)f, lemufal:t j*f g+= 3 250 250 10 240

17 aUg]pnf df)f' lgdf{)f j*f g+= 3 150 150 6 144

18 ;fN#f)fL uf]bf*L df)f' j*f g+= 3 400 400 16 384



19 ljZjsdf{ dlGb/ lgdf{)f, b]p/)fL j*f g+= 3 150 150 6 144

20 lzjhLsf] dlGb/ lgdf{)f, d^]gf j*f g+= 3 200 200 8 192

21 ;+:s[lt k|jb{g j*f g+= 4 50 50 2 48

22 kg]*] b]jtfsf] dlGb/ lgdf{)f j*f g+= 4 150 150 6 144

23 tf]nfsf] dlGb/ lgdf{)f j*f g+= 4 100 100 4 96

24 uf]bf*L dlGb/ dd{t j*f g+= 4 50 50 2 48

25 >Lj]tfn dlGb/ lgdf{)f, uf]ugvf]nf j*f g+= 4 200 200 8 192

26 ;t;+un] dlGb/ lgdf{)f j*f g+= 4 100 100 4 96

27 j]*l;d dlGb/ lgdf{)f j*f g+= 4 200 200 8 192

28 lzj dlGb/ kvf{n lgdf{)f j*f g+= 4 100 100 4 96

29 b'uf{b]jL dlGb/ lgdf{)f -qmdfut_ j*f g+= 4 800 800 32 768

30 wfld{s sfo{qmd tyf ehg lst{g ;fdu|L vl/b j*f g+= 5 100 100 100

31 snf/] e/f)f dd{t, a'xf/ j*f g+= 5 100 100 4 96

32 d;fgL yfg lgdf{)f, sf]dnemf)f j*f g+= 5 100 100 4 96

33 sflnsf b]jL dlGb/ #]/jf/, tlnufp j*f g+= 5 150 150 6 144

34 nf^f] j]tfn dlGb/ lgdf{)f, hdns^\^] j*f g+= 5 150 150 6 144

35 k/Dk/fut k]zf tyf ;Lk k|jb{g cfod"ns sfo{qmd j*f g+= 5 150 150 150

36 :ofnf lkkn rf}tf/f] lgdf{)f j*f g+= 5 150 150 6 144

37 v*fot df)f' dlGb/ lgdf{)f -qmdfut_ j*f g+= 5 200 200 8 192

38 efu]Zj/ dlGb/ lgdf{)f j*f g+= 5 250 250 10 240

39 a]*l;d dlGb/ lgdf{)f j*f g+= 5 200 200 8 192

40 d^\^] dlGb/ lgdf{)f tyf #]/jf/ j*f g+= 5 200 200 8 192

41 sflnsf dlGb/ lgdf{)f j*f g+= 5 200 200 8 192

42 ;f:s[lts d]nf Joj:yfkg sfo{qmd j*f g++ 6 50 50 2 48

43 lkNs]Zj/ s]bf/ e/f)f lgdf{)f, gf}ef/L a]nnufp j*f g++ 6 500 500 20 480

44 b]jLsf] e/f)f lgdf{)f, tlnufp j*f g++ 6 200 200 8 192

45 d;fgL dlGb/ lgdf{)f, ln)f];}g j*f g++ 6 50 50 2 48

46 t]l* b]jtf dlGb/ lgdf{)f, kmn]*L j*f g++ 6 150 150 6 144

47 di^f dlGb/ lgdf{)f -qmdfut_ j*f g+= 6 300 300 12 288

48
;Ltf/fd ;+:s[t kf&zfnf ;+efJotf cWoog tyf 

of]hgf lgdf{)f 
j*f g+= 6 100 100 100



49 snf tyf ;+:s[lt k|jb{g j*f g+= 7 30 30 30

50 t]l* dlGb/ lgdf{)f, l;dn*f]/f j*f g+= 7 200 200 8 192

51 snf/} dlGb/ vfg]kfgL of]hgf kfO{k vl/b j*f g+= 7 100 100 100

52 e'd] dlGb/ #]/jf/ j*f g+= 7 200 200 8 192

53 s]= cfO{= l;+x /fi^« lgdf{)f wfld{s cleofg sfo{qmd uf kf :t/Lo 500 500 20 480

2050 v]ns'b tyf dgf]/~hg

1 o'jf tyf v]ns'b sfo{s|d j*f g+= 3 50 50 50

2 s'nfp v]n d}bfg lgdf{)f j*f g+= 5 50 50 2 48

3 v]ns"b sfo{qmd j*f g+= 5 50 50 50

4 v]ns"b sfo{qmd j*f g++ 6 30 30 30

5 v]n d}bfg lgdf{)f, rf}* j*f g+= 7 100 100 4 96

6 elnjn tyf t]sjfGbf] v]n k|lzIf)f sfo{qmd uf kf :t/Lo 400 400 400

2060 n}+lus ;dfgtf tyf ;fdflhs ;dfj]zLs/)f

1 blnt hghfltsf nflu cNnf] k|zf]wg cf}hf/ vl/b j*f g+= 1 15 15 15

2 Ho]i& gful/s ;Ddfg sfo{qmd j*f g+= 1 50 50 50

3
blnt tyf hghflt dlxnfsf nflu ;Lkljsf; 

sfo{qmd 
j*f g+= 1 200 200 200

4 o'jf sfo{qmd j*f g+= 2 40 40 40

5 afnaflnsf sfo{qmd j*f g+= 2 25 25 25

6 ckf+u gful/s pTyfg sfo{qmd j*f g+= 2 50 50 50

7 Ho]i& gful/s sfo{qmd j*f g+= 2 50 50 50

8 dlxnfx?sf] ;Lk ljsf; tflnd j*f g+= 2 200 200 200

9 dlxnf Ifdtf ljsf; sfo{s|d j*f g+= 3 150 150 150

10 ckf+utf sfo{s|d j*f g+= 3 50 50 50

11 Pr=cfO{=le= lkl*t ;xof]u j*f g+= 3 15 15 15

12 h]i& gful/s ;Ddfg sfo{qmd j*f g+= 3 50 50 50

13 afnaflnsfsf] nflu Ifdtf ljsf; tflnd j*f g+= 4 40 40 40

14 l;nfO{ s^fO{ sfo{qmd  -P*efG;_ j*f g+= 4 80 80 80

15 Ho]i& gful/s ;Ddfg sfo{qmd j*f g+= 4 50 50 50

16 ckf+u cfo cfh{g sfo{qmd j*f g+= 4 50 50 50

17 lszf]/Lx?sf] nflu cled"vLs/)f tflnd j*f g+= 4 14 14 14

18 dlxnf Ifdtf ljsf; sfo{qmd tyf tflnd j*f g+= 5 150 150 150



19 ckf+utf sfo{qmd j*f g+= 5 30 30 30

20 Ho]i& gful/s ;Ddfg sfo{qmd j*f g+= 5 50 50 50

21 o'jf :j/f]huf/ sfo{qmd j*f g+= 5 200 200 200

22 dlxnf Ifdtf ljsf; sfo{qmd j*f g++ 6 300 300 300

23 dlxnf ;zlQms/)f sfo{qmd j*f g++ 6 35 35 35

24 lszf]/ lszf]/Lsf nflu hgr]tgfd"ns sfo{qmd j*f g++ 6 30 30 30

25 afnSna ;fdu|L vl/b j*f g++ 6 30 30 30

26 Ho]i& gful/s ;Ddfg sfo{qmd j*f g++ 6 50 50 50

27 ckf+utf sfo{qmd j*f g++ 6 35 35 35

28 dlxnf Ifdtf ljsf; sfo{qmd j*f g+= 7 300 300 300

29 lszf]/Lx?sf nflu hgr]tgf sfo{qmd j*f g+= 7 30 30 30

30 afn Snasf] nflu ;fdu|L vl/b j*f g+= 7 30 30 30

31 ckf+utf ePsf JolQmsf nflu cfo cfh{g sfo{qmd j*f g+= 7 50 50 50

32 Ho]i& gful/s ;Ddfg sfo{qmd j*f g+= 7 50 50 50

33 dlxnf ;zlQms/)f tflnd j*f g+= 7 80 80 80

34 ;'s'Djf;L tyf hf]lvd jl:t Joj:yfkg sfo{qmd uf kf :t/Lo 400 400 400

35 ckf+u ;DaGwL sfo{qmd uf kf :t/Lo 200 200 200

36 blnt ;+u cWoIf sfo{qmd uf kf :t/Lo 2700 0 2700 0 0 0 0 0 2700

37 dlxnf ;+u pkfWoIf sfo{qmd uf kf :t/Lo 1400 0 1400 0 0 0 0 0 1400

30 k"jf{wf/ ljsf;

3010 :yfgLo ;*s, k'n tyf emf]n'é] k'n

1 lemd]-cNn]jg-nf]nL ;*s ;+/If)f sfo{qmd j*f g+= 1 200 200 200

2 cNn]jg-dxfb]j ;*s lgdf{)f j*f g+= 1 600 600 24 576

3 kf]*]vftL-a:gf ;*s lgdf{)f j*f g+= 1 200 200 8 192

4 Uofljg hfnL lgdf{)f, k'*]vftL vf/uf})ff k'n j*f g+= 1 50 50 2 48

5 afhkGg]-cf :jf s]|-j*f sfof{no ;*s j*f g+= 1 500 500 20 480

6 cNn]jg-dxfb]j-;]tL gbL ;*s lgdf{)f j*f g+= 1 700 700 28 672

7 #f^nfo-n]su*f ;*s dd{t j*f g+= 2 700 700 28 672

8 n]su*f-*f]nf ;*s j*f g+= 2 150 150 6 144



9 v}/fgL-sfn]cfd ;*s lgdf{)f j*f g+= 2 150 150 6 144

10 ;]pn]vfd ?dfn-#f^nfo uf]/]^f] af^f] j*f g+= 2 100 100 4 96

11 n]su*f-df}*f ;*s j*f g+= 2 600 600 24 576

12 bNnufFp-l;tf/fd cf=lj= kSsL af^f] lgdf{)f j*f g+= 3 150 150 6 144

13 d'n ;*s-j*f sfof{no klSs af^f] lgdf{)f j*f g+= 3 500 500 500

14 ju*-ef*fufp klSsaf^f] lgdf{)f j*f g+= 4 300 300 12 288

15 ju* ahf/-v*\sfjf*f klSs af^f] lgdf{)f j*f g+= 4 400 400 16 384

16 lemd]-af:sf]^ ;*s lgdf{)f j*f g+= 4 300 300 12 288

17 ufpkflnsf-gfggL-sf/Lufp kSsL af^f] lgdf{)f j*f g+= 4 300 300 12 288

18 au* ahf/-dNnf] v*\sfjf*f ;*s lgdf{)f j*f g+= 4 500 500 0 20 480

19 sfsL{au/-lkn]sf+*f ;*s lgdf{)f -qmdfut_ j*f g+= 4 800 800 32 768

20 cf]nLufp-d'/]*f ;*s lgdf{)f -qmdfut_ j*f g+= 4 800 800 32 768

21 j]ntfnL-skmnfgL klSs af^f] lgdf{)f j*f g+= 5 200 200 8 192

22 a}h]nL /f]*-ufp+ kSsL af^f] lgdf{)f j*f g+= 5 100 100 4 96

23 :ofnf blnt al:t-d"n ;*s klSs af^f] lgdf{)f j*f g+= 5 200 200 8 192

24 sf]n-lkkn rf}tf/f #f]/]^f] af^f] lgdf{)f j*f g+= 5 100 100 4 96

25 sf+*]u*f]-l;dnu*f klSs af^f] lgdf{)f j*f g+= 5 150 150 6 144

26 d'n ;*s-–di^f dlGb/ klSs af^f] lgdf{)f j*f g+= 5 300 300 12 288

27 tlnufp-tln#/ klSs af^f] lgdf{)f -qmdfut_ j*f g+= 5 200 200 8 192

28 ()f]ndf)*f}-cgf/f}jf ;*s lgdf{)f -qmdfut_ j*f g+= 5 400 400 16 384

29
s]bf/ufp+-()f]ndf)*f}-a'xf/- ul*ufp+ ;*s lgdf{)f -

qmdfut_
j*f g+= 5 300 300 12 288

30 tln#/-d'n;*s klSs af^f] lgdf{)f -qmdfut_ j*f g+= 5 250 250 10 240

31 b'gf/ vf]nf-a'xf/ kSsL af^f] lgdf{)f -qmdfut_ j*f g+= 5 250 250 10 240

32 d"n ;*s-kf^fvfgL ;*s lgdf{)f -qmdfut_ j*f g+= 5 200 200 8 192

33 s/tf]nf-(*]ndf)*f} ;*s :t/f]Gglt j*f g+= 5 500 500 500

34 %flt-&'nf]u*f-sf]nu*]-gfpvfg ;*s lgdf{)f j*f g++ 6 150 150 6 144



35
ju]*f-gfrgynf-wf/f klSs #f]*]^f] af^f] lgdf{)f, 

ln)f];}g
j*f g++ 6 200 200 8 192

36 letfl*-b]p/]u*f-klSs #f]*]^f] af^f] lgdf{)f j*f g++ 6 400 400 16 384

37 #/v]t-dNnf] uf})ff klSs #f]*]^f] af^f] lgdf{)f j*f g++ 6 150 150 6 144

38 efj/ vf]nf-e't] vs{ ;*s lgdf{)f j*f g++ 6 150 150 6 144

39 #^\^]vf]nf-b]j:yn ;*s :t/f]Gglt j*f g++ 6 800 800 32 768

40 kmn]*L au/-sfkmnL af^f] lgdf{)f j*f g++ 6 300 300 12 288

41 au/-ltt]u*f ;*s lgdf{)f j*f g++ 6 400 400 16 384

42 jn/ ufp- dxt ufp ;*s lgdf{)f -qmddfut_ j*f g+= 7 500 500 20 480

43
l*ª/f /f]*-afag wf/f klSs uf]/]^f] af^f] lgdf{)f -

qmdfut_  
j*f g+= 7 500 500 20 480

44 b'uf{ dlGb/-sf]/s^\^] klSs #f]*]^f] af^f] lgdf{)f j*f g+= 7 200 200 8 192

45 ;]Nnfp-kfgL gfpnf klSs #f]*]^f] af^f] lgdf{)f  j*f g+= 7 200 200 8 192

46 af]n]u}/f-ynL ;*s lgdf{)f j*f g+= 7 500 500 20 480

47
lji^ufp+-snf/} :s'n skNn]sL ;*s lgdf{)f -

qmdfut_
j*f g+= 7 600 600 24 576

48 lzIffno *f]*/ ;*s dd{t j*f g+= 7 500 500 500

49
/fp;]-gf/L bf+u-;]tL nf]s dfu{ ;*s lgdf{)f -

qmdfut_
j*f g+= 1–3 600 600 24 576

50 b]p/*L-h+uf/ ;*s lgdf{)f -qmdfut_ j*f g+= 1, 3 500 500 20 480

51 Xo'd kfO{k vl/b, ('jfgL tyf h*fg uf kf :t/Lo 300 300 12 288

52 ljleGg :yfgLo ;*s v)*x? dd{t uf kf :t/Lo 2000 2000 80 1920

53 Emf]n"+u] k"n lgdf{)fsf nflu ldnfg sf]if uf kf :t/Lo 265 265 265

3020 l;+rfO{

1 v*;}g l;rfO{ kf]v/L lgdf{)f j*f g+= 1 200 200 8 192

2 rf}/ynf l;rfO{ kf]v/L lgdf{)f j*f g+= 1 250 250 10 240

3 l;dvf]nf b]lv b]j/s^\^] l;rfO{ kfO{k vl/b j*f g+= 1 50 50 50

4 n]s l;rfO{ s'nf] lgdf{)f j*f g+= 2 300 300 12 288

5 n]s sfk*f l;rfO{ s'nf] lgdf{)f j*f g+= 2 300 300 12 288



6 h]&vf]nf kf]v/L lgdf{)f j*f g+= 2 100 100 4 96

7 /Gtf]nf l;rfO{ s'nf] dd{t j*f g+= 2 150 150 6 144

8 tNnf] t*v]t l;rfO{ s'nf] j*f g+= 3 200 200 8 192

9 jTtyfnf l;rfO{ kf]v/L lgdf{)f j*f g+= 3 50 50 2 48

10 e]/Lk* uf*v]t l;rfO{ s'nf], bNn j*f g+= 3 150 150 6 144

11 vf/ l;rfO{ kf]v/L lgdf{)f j*f g+= 3 100 100 4 96

12 ;d'nL l;rfO{ kf]v/L j*f g+= 3 100 100 4 96

13 t*v]t l;rfO{ s'nf] lgdf{)f j*f g+= 3 500 500 20 480

14 /h]gf l;rfO{ s'nf] lgdf{)f j*f g+= 3 100 100 4 96

15 n'Dgf l;rfO{ s'nf] lgdf{)f j*f g+= 3 100 100 4 96

16 wgs'^] l;rfO{ s'nf] lgdf{)f, r/Lsf]^ j*f g+= 3 150 150 6 144

17 u)fv]t l;rfO{ s'nf] lgdf{)f j*f g+= 3 150 150 6 144

18 du/fp l;rfO{ kf]v/L lgdf{)f, sfk*Lufp j*f g+= 3 250 250 10 240

19 t'/wf/ b]lv ^fs;Dd l;rfO{ kfO{k vl/b j*f g+= 4 200 200 200

20 u/l*ufp dNnf] s'nf] lgdf{)f j*f g+= 4 350 350 14 336

21 ljv{d l;rfO{ s'nf] lgdf{)f j*f g+= 4 500 500 20 480

22 ;f]nf/ l;rfO{ k$lt ;'b[(Ls/)f, af]t*L;}g j*f g+= 5 50 50 2 48

23 l;rfO{ kfO{k vl/b j*f g+= 5 150 150 150

24 #^\^]vf]nf b]lv ul*ufp+ ;Dd l;rfO{ s'nf] lgdf{)f j*f g+= 5 200 200 8 192

25 lkgf/f gfpnf] dd{t j*f g+= 5 40 40 1.6 38.4

26 u*\ofgL vfg]kfgL gfpnf] lgdf{)f j*f g+= 5 40 40 1.6 38.4

27 sf]nf vf]nf blnt÷dlnt vfg]kfgL gfpnf] dd{t j*f g+= 5 100 100 4 96

28 hfvn]-d^]nf-;}g l;rfO{ s'nf] kfO{k vl/b j*f g+= 5 100 100 100

29 wg d^\ofn ;Ld kf]v/L lgdf{)f j*f g+= 5 100 100 4 96

30 ltnf]tfgL l;rfO{ kf]v/L lgdf{)f j*f g+= 5 200 200 8 192

31 xts]{ l;rfO{ kf]v/L lgdf{)f j*f g+= 5 250 250 10 240

32 plQ:ofgL l;rfO{ kf]v/L lgdf{)f j*f g++ 6 100 100 4 96

33 *f+uf l;rfO{ kf]v/L lgdf{)f j*f g++ 6 200 200 8 192



34 df}/]kfgL af^'n rd/L l;rfO{ of]hgf, efl^ufp j*f g++ 6 800 800 32 768

35 du/fp uf]NynL l;rfO{ of]hgf, kf/Lufp j*f g++ 6 400 400 16 384

36 ;n]gLuf* l;rfO{ dd{t of]hgf, rf}*  j*f g+= 7 500 500 20 480

37 bf]uf* ;fNsf]^ l;rfO{ dd{t j*f g+= 7 200 200 8 192

38 k)f];/f ;}g l;rfO{ s'nf] lgdf{)f j*f g+= 6, 7 900 900 36 864

39 ;f}o{ phf{af^ kfgL tfGg] k$lt :yfkgf uf kf :t/Lo 2000 2000 2000

40 l;rfO{ kfO{k vl/b uf kf :t/Lo 400 400 400

3030 ejg tyf ;x/L ljsf; 

1 *'*]emf* k|ltIffno lgdf{)f j*f g+= 3 200 200 8 192

2 j*f sfof{no dd{t j*f g+= 3 100 100 4 96

3 v/d'Qm a*f lgdf{)f sfo{qmd -h:tf kftf nufpg]_ j*f g+= 4 1100 1100 44 1056

4 ;fd'bflos ejg lgdf{)f, ef*fufp j*f g+= 4 350 350 14 336

5 l;sdL{ *sdL{nfO{ e'sDk k|lt/f]wL tflnd j*f g+= 4 80 80 3.2 76.8

6 tflnd xn lgdff{)f j*f g+= 5 500 500 500

7 7 g+= j*f sfof{nosf] hUuf vl/b÷Joj:yfkg j*f g+= 7 500 500 500

8 l;sdL{ *sdL{nfO{ e'sDk k|lt/f]wL tflnd j*f g+= 7 100 100 100

9 cfw'lgs u|fd ljsf; sfo{qmd, ;}g j*f g+= 7 400 400 400

10 k|j]b åf/ lgdf{)f uf kf :t/Lo t':oft vf]nf 500 500 500

11 kqsf/ kxf;+# ejg lgdf{)f, l;nu(L uf kf :t/Lo 200 200 8 192

12 lj lk ;flns lgdf{)f ljkLgu/ 150 150 150

13 sd{rf/Lx?sf nflu cfjf; u[x lgdf{)f uf kf :t/Lo 500 0 500 500

3040 phf{, n#' tyf ;fgf hnljB't

1 ljB'tsf] kf]n vl/b -cfjZostf cg';f/_ uf kf :t/Lo 500 500 500

2 ljB'tsf] tf/ vl/b -cfjZostf cg';f/_ uf kf :t/Lo 500 500 500

3
ljB'tLo ;fdfgx?sf] ('jfgL, h*fg nufot cGo 

Joj:yfkg vr{x?
uf kf :t/Lo 200 200 200

3050 ;~rf/

1 hgr]tfgfd"ns ;'rgf k|;f/)f sfo{qmd j*f g+= 7 50 50 50



2 s]= cfO{= l;+x ;+rf/ ultljlw sfo{qmd uf kf :t/Lo 250 250 250

40 jftfj/)f tyf ljkb Joj:yfkg

4010 jg tyf e' ;+/If)f

1 /fli^«o jg ;+/If)f sfo{qmd j*f g+= 1 110 110 110

2 jg tyf jftfj/)f ;DaGwL sfo{qmd uf kf :t/Lo 950 0 950 0 0 0 0 0 950

4020 hnfwf/ ;+/If)f

4030 jftfj/)f ;+/If)f, hnjfo" kl/jt{g

4040 kmf]x/d}nf tyf (n Joj:yfkg

4050 hnpTkGg k|sf]k lgoGq)f

1 efj/ vf]nf t^aGwg, nf]nL j*f g+= 1 200 200 200

2 j*f sfof{nosf] sDkfp)* lgdf{)f j*f g+= 2 500 500 500

3 UofjLg hfnL vl/b j*f g+= 3 100 100 100

4 ;]nvf]nf t^aGwg, r/Lsf]^ j*f g+= 3 250 250 10 240

5 kmfp;] :ofnL v]t t^aGwg j*f g+= 3 200 200 8 192

6 b'uf{df)*f} :jf:Yo rf}sL t^aGwg j*f g+= 4 300 300 0 300

7 di^]Zj/ cfwf/e"t ljBfno t^aGwg j*f g+= 5 300 300 12 288

8 Uofljg hfnL vl/b tyf lgdf{)f uf kf :t/Lo 500 500 500

4060 ljkb Joj:yfkg

1 ljkb Joj:yfkg sf]if uf kf :t/Lo 700 0 700 700

4070 jf?)f oGq ;+rfng

50 ;+:yfut ljsf;, ;]jf k|jfx / ;'zf;g

5010 ;fdfGo ;]jf 

1 sd{rf/L cjsfz sf]if :yfkgf uf kf :t/Lo 100 100 100

2 pkef]Qmf ;ldltnfO{ tflnd uf kf :t/Lo 250 250 250

3 cg'bfg tyf cfly{s ;xfotf sf]if uf kf :t/Lo 1900 900 0 1000 1900

5020 ;'/Iff Joj:yfkg

5030 ;"rgf k|ljlw

1 OG^/g]^ h*fg uf kf :t/Lo 300 300 300



2
PsLs[t ;DklQ s/ nufot cGo ;km\^j]o/ 

;'b[(Ls/)f
uf kf :t/Lo 200 200 200

3 ;'q k|)ffnL :yfkgf tyf Joj:yfkg uf kf :t/Lo 80 80 80

5040 k+lhs/)f Joj:yfkg

5050 :yfgLo tYof+s ;+sng / clen]v Joj:yfkg

1 ;fem]bf/Ldf l*lh^n k|f]kmfO{n lgdf{)f uf kf :t/Lo 450 450 450

5060 ;'zf;g k|jb{g

1 ;fj{hlgs ;'g'JffO{ j*f g+= 1 25 25 25

2 ;fj{hlgs ;'g'jfO{ j*f g+= 2 25 25 25

3 ;fj{hlgs ;'g'jfO{ j*f g+= 3 25 25 25

4 ;fj{hlgs ;'g'jfO{ j*f g+= 4 25 25 25

5 ;fj{hlgs ;'g'jfO{ j*f g+= 5 25 25 25

6 ;fj{hlgs ;'g'jfO{ j*f g++ 6 25 25 25

7 ;fj{hlgs ;'g'jfO{ j*f g+= 7 25 25 25

8 ;fdflhs kl/If)f sfo{qmd uf kf :t/Lo 100 100 100

9 ;fj{hlgs ;'g'jfO{ sfo{qmd uf kf :t/Lo 3 k^s 200 200 200

10 hgk|ltlglw tyf sd{rf/LnfO{ tflnd uf kf :t/Lo 200 200 200

11 pTs[i^ pkef]Qmf ;ldltnfO{ k'/:sf/ uf kf :t/Lo 35 35 35

cg';Gwfg tyf ljsf;

1 /fhZjsf] ;+efJotf cWoog tyf sfo{of]hgf lgdf{)f uf kf :t/Lo 500 0 500 500

s]= cfO{= l;+x ;+u|xfno j*f g+= 1

Eo" ^fj/ j*f g+= 1

jf;'b]jL s]bf/ j*f g+= 3

efn'vf]nf af:sf]^ l;rfO{ s'nf] j*f g+= 4

dflnsf dlGb/ j*f g+= 4

/fgfufp v]n d}bfg j*f g+= 5

b]j:yn leQfl* rf}* ynf ;*s j*f g+= 6

k*];/f ;}g l;rfO{ of]hgf j*f g+= 7

j*f sfof{no ejg j*f g+= 1, 7
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5080 cGoq juL{s[t gePsf]

1 kmflg{r/, lkmSr;{ tyf On]S^«f]lgS; ;fdfg vl/b j*f g+= 3 60 60 60

2 kmflg{r/, lkmSr;{ tyf On]S^«f]lgS; ;fdfg vl/b j*f g+= 5 70 70 70

3 kmflg{r/, lkmSr;{ tyf On]S^«f]lgS; ;fdfg vl/b j*f g++ 6 70 70 70

4 kmlg{r/ lkmSr;{ tyf On]S^«f]lgS; ;fdfg vl/b j*f g+= 7 100 100 100

5 kmlg{r/ tyf lkmSr;{ uf kf :t/Lo 1000 1000 1000

6 d]l;g/L cf}hf/ vl/b uf kf :t/Lo 1200 200 1000 1200

7 ^])^ vl/b j*f g+= 7 50 50 50

8 s]= cfO{= l;+x ufp+kflnsfsf] u'?of]hgf lgdf{)f uf kf :t/Lo 2000 0 2000 2000

9 Goflos ;ldlt ;DaGwL sfo{qmdx? uf kf :t/Lo 1100 0 1100 0 0 0 0 0 1100

10 ;Dk'/s sf]if uf kf :t/Lo 20000 20000 20000

hDdf 133479 3100 124135 6244 0 0 0 1977.4 131502


